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Abstract Existing XML query languages are textual or graphical languages in which we can specify queries for
XML manipulation. XLearner, a different kind of manipulation framework for XML, learns XQuery queries based
on operations of sample XML elements. Inferring queries for XML is a non-trivial task, because XML is a kind
of semistructured data, in contrast to relational databases whose data structure is completely regular. The paper
focuses on the implementation of a prototype system of XLearner.
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4. if (n.VarInReturn()) {

5 n.query = learnQueryl(n);
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